L
| dzb x § (9 L x dgy (o

b ‘spunod Ul S12MSUD JNOA 1A

I | suonooNndiynu BuIMOT|of Y3 IN0 JIOM |

(_1503 S)iw Jo sassp)b € Op Yoni MOH
9z |3 S150D i JO ssp1b ¥ ﬂ
UOISIAIP pUl
uoqqumnm Buinos w1qo

i LSS ‘ASUOW .zx jnun _ : ‘
\ 179d B >|ooq+xal




- Unit 12: Money, Lesson 7.~ -

. Unit 12: -Money, Lesson 7

| | Y Find 2 of £9.72.
Work out the following calculations. |

} ke =
a) £3-|8x6=£[:j b) 5 x £7-4q=£[j | 2 6f £9.72 = £[:]
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} Toshiis hosting a barbeque.

He needs 12 burgers and 12 bread buns.

e Toshi knows that 3 burgers cost £4-62.

¥4 o) 4 scones cost 172p in total.

e He also knows that 5 bread buns cost £1-20.

How much does | scone cost? How much does it cost him in total to buy the burgers and buns?

I60p+4=[:jp ‘2P+4=[:]P ) Qﬁ ) | )
(o=l ' | '
A scone costs Dp-

b) 4 rulers cost £1-72 in total. .
How much does | ruler cost? The total cost is ED . "
| ruler costs £[::]- y

€3 Work out the following divisions.

a) £2:76 + 3 =[:j

A book costs £7-99. How could you work out the cost of 8 books?
& Did your partner work it out the same?

by €276 +2= | J— I |
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